





In a YDSE setup, the slits are separated by 1.5mm and the distance between slits and screen 1s
2m. On using light of wavelength 400nm, 1t 1s observed that 20 maximas of double slit experi
ment lie inside the central maxima of single diffraction. The width of each slit 1s pm

Displacement of a wave is expressed as x(t) = 2€0s| 6238t +—|m the wavelength of wave

when 1ts velocity 1s 300m/s 1s

1)0.5m 2)5Sm 3)0.33m 4)3m

A block of mass 25kg 1s pulled along a horizontal surface by a force at an angle 45° with the
horizontal. The friction coefficient b/w the block and the surface 1s 0.25. The block travels at

a uniform velocity, the work done by the applied force during a displacement of 5m of block
1S

il =
::::::

1) 735] 2) 490] 3) 245] 4) 970])
A metallic ring 1s uniformly charged as shown 1n fig. AC & BD are two mutually perpendicu

lar diameters. Electric field due to are AB at ‘O’ 1s E 1n magnitude. What would be the magni
tude of electric field at “O’ due to arc ABC?

1) \/2E 2) Zero 3) E/2 4) 2E
It the displacement of the block 1s 5m, the work done by force applied 1s (coefficient of

|
friction between block and surface 1s 2 )

1) 500423  2)250] 3) 100J 4) 500J
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11.

12.
13.
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The dimensional formula of the ratio of electrical dipole moment to the magnetic moment 1s

MPYLRTRA®. Then PQ.,R and S are

1)0-1,1,0 2)0,1-1,0 3)0,1,0-1  4)0,1,0,1

Two polarises P, & P, are aligned 1n such a way that intensity 1s zero, P, polarises 1s inserted
between P and P, such that final transmitted ray will have the maximum intensity. Find angle

between P, and P,
1) n/4 2) /2 3) n/3 4) n/8
Three parallel plate capacitors C,.C,C, each of capacitances SuF are connected as the

effective capacitance between points A & B, when the space between the parallel plates of C,
capacitor 1s filled with a dielectric medium having dielectric constant of 4 1s

- TR "R TR N W W

The ratio of electric dipole moment to magnetic dipole moment 1s M* LRT*A® then P + Q?

A wheel 1s rolling on a plane surface the speed of a particle on the highest point of the rim 1s
8m/s, the speed of the particle on the rim of the wheel at the same level as the centre of the
wheel 1S

4 A
Displacement of a wave 1s expressed as x(t) = 5cos| 628t - " |m. the wavelength of wave

\ 2 )

when 1ts velocity 1s 300m/s 1s
1)0.5m 2)5Sm 3)0.33m 4)3m
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Consider the following graph between Rate Constant (K ) and —

T
log K
1) Ea, > Ea, > Ea, 2) Ea, >Ea, > Ea,
3) Ea, > Ea, > Ea, 4) Ea, > Ea, > Ea,

A dipeptide “x’ on complete hydrolysis gives “y” and “z’. y on treatment with aq. HNO, produces
lactic acid on the other hand “z” on heating gives the following molecule. Based on the information
the given dipeptide 1s

1) Alanine - Glycine 2) Valine-Glycine

2) Valine - Leucine 4) Alanine - Alanine

Statement-1:- Alcohol 1s prepared from alkyl halkde in presence of
aq.KOH by elimination K— X M_, ﬁ—- o
Statement-2:- Alkenes are prepared from al ;;’ halige with alc.
KOH by /- elimination

1. Statement - 1 and Statement - 2 are correct

2. Statement - 1 and Statement - 2 are incorrect

3. Statement - 1.is true and Statement - 2 1s faise

4. Statement - 1 is false and Statement - 213 true
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